F7T1EARRXREEFEFIITHRBRE AR

2018/7/15
L1-A | —2IBKG| AL | S16TH | BEE | BESA | BEE | KM | ,Toy | #xAE B
@) @) @) — 10 — 2|22 — 4353 — 212
—2iTBKG 2 — 1| 3 ol2 — 1|3 -— ( 4) ( 8 ) ( 18 ) ( 141 ) 1
5 — 2 6 0 5 = 2 6 —
88 — 521 90 5918 — 63] 9 — 38
X X (@) — 5 — 7|12 — 16|286 — 325
AL 1 - 2 1 2 1T - 212 - 1 (-2) ( -2) ( -4) ( -39 ) 3
2 — 5 2 4 3 — 5 5 — 2
52 — 88 66 741 82 — 87|86 — 76
X O (@) (@) — 6 — 613 — 13(303 — 298
Siédm| © — 3|2 — 1 2 — 1|2 - 1 ( 2) ( 0) ( 0) ( 5 ) 2
— 6 4 — 2 4 — 2 5 — 3
59 — 90| 74 — 66 78 — 64192 — 78
X O X — 5 — 7|11 — 16(289 — 322
mEEm |1 — 2|2 — 1|1 2 1 - ( -2) ( -2 ) ( -5) ( -33) 4
2 — 5 5 — 3 2 4 2 — 4
63 — 85|18 — 82| 64 78 75 — 71
X X (@) — 4 — 8|9 — 18269 — 343
gEBA| 0 — 3|1 — 2[4 2 2 — 1 ( -2) ( -4) ( -9) ( =74 ) 5
— 6 2 - 5 3 5 4 — 2
38 — 90|76 — 86| 78 92 | 77 — 75

1/ 11 R—=2




Red: FNERRRXEEEF)F7 3
EH: EFEEWLI—A)
HEES: 1 (—ZIBKGvs 5L0)
£15: IIFNRAR-YtU4-

D1

D2

KATA
D3

=
=

2/ 11 R=

/S\ C

L1—A
2 — 1
10 — 135
15 — 2
3 — 9
19 — 93
1 — 1
15 — 8
15 — 10

AK RRESE

=2H fmi

=8 MF
mE MR

ZK 2
k& RBBF



R4

1BE: EEELI—A)
HEBS: 2 (S1HITH vs BEA)

=i5:

D1

D2

D3

IR NRAR—vtss-

S1&%H9H

S

ER

HHR

FNRIRRXEHFF)77

L1—A
2 — 1
15 — 10
15 — 6
9 — 15
9 — 15
15 — 1
1 — 1

3/ 11 R=

7= P

BER &F

INEZE FAEE

131
E
<
=

it
>t
5
._H



RKE4: FINERIRERESEEF)77 i
H: FARE(L1—A)
HEES: 3 (—2Z/IBKG vs 5FEBA)

=15 IIFJNIRAKR-Ytv5—

D1

£l
D2
AH

KATA
D3

=
=

=

BA 0

HEF

ER

4/ 11 R—=

L1—A
3 — 0
15 — 3
15 — 6
15 — 7
15 — 2
15 — 9
15 — 11

EEBA

o B

2R #HWPE

INKZ JHF
AW &F

BF UAH

=X BEF



K% FNEREXREEFI77 g
EH: HEEWLI—A)

HAEES: 4 (ALvs S1HTH)

=15 IFNIRAK -Ytv4-

L1—A

/S\l: 1 - 2 S‘]&.a_?b\
=28 fF 12 — 15 BE4E &N3E

D1 0 11 — 15| 2
AE K — FiE £H
ZK 2 6 — 15 FNZE BPER

D2 0 7 — 15| 2
{Z#% BRF ] — . LR i
B FHE3E 15 — 8 2RI T

D3 2 15 — 6| 0
=EH @ ] — OE BF

5/ 11 R=



Red: FNERRRXEEEF)F7 3
e HARELI—A)

HEES: 5 (BABTE vs BFEBA)
£15: IIFNRAR-YtU4-

L1—A

s =il 1 — 2

=i REF 13 — 15

D1 0 12 — 15
Bk H#HF —

BE £ H 15 — 6

D2 2 15 — 11
ZH EH —

ZER BF 8 — 15

D3 0 12 — 15
ki & ] —

6/ 11 R=

EEBA

N HEF

BF UAH

28 s
FL BT

o B

2R BET



K% FNEREXREEFI77 g
EH: HEEWLI—A)

AEEES: 6 (—ZiIIBKGvs S1HTH)
=15 IFNIRAK -Ytv4-

L1—A

— 2 IBKG 3 — 0 S1HIH

B ER 15 — 11 ZE =
D1 2 15 — 71 0

Wi B — oE BF

MR EF 15 — 6 FNZE BPER
D2 2 15 — 10| 0

Bl &F - LR

KialN HEF 15 — 13 RN #&TY
D3 2 15 — 12| 0

AR+T BAMN ] — FiE £H

7/11 R=



K% FNEREXREEFI77 g
EH: HEEWLI—A)

HEFES: 7 (HLvs BERA)

=15 IRINRAR =Yt/

L1—A
AL 1 — 2 s =i
ZK 2 15 — 5 B £ H
D1 1 14 — 15| 2
{55 RA-F 4 — 5 BiR HHEF
=25 fF 12 — 15 =L DF
D2 0 8 — 15| 2
FEE FIA — ) INEE PED
B FHE3E 9 — 15 =1 MEF
D3 2 15 — 13| {1
=EH @ 5 - 4 =X B&F

8/ 11 R—=



RKE4: FINERIRERESEEF)77 i
EH: EAREL—A)
HEEZES: 8 (S1HITH vs BEEBA)

=15 IIFJNIRAKR-Ytv5—

S1®HI H

R
D1

S

ME
D2
LR

BEI#R
D3

FE

%5

ES

RO HR
g1

=

=H

9/ 11 R—

L1—A
2 — 1
1 — 8
12 — 15
5 — 2
15 — 14
19 — 6
15 — 13
12 — 15
3 — 9

EEBA

NG HEF

BF UAH

2R #HWPE

Al &F

o B

=

=

X BET



Red: FNERRRXEEEF)F7 3
EH: EFEEWLI—A)

HEFS: 9 (—ZI/IBKGvs FAET)
£15: IIFNRAR-YtU4-

L1—A
— Z2iIBKG 2 — 1 s =i
AR+ BEAN 15 — 7 #ER &F

D1 15 — 5
Wi B — INEE FAED
MR EF 15 — 14 =L DF

D2 1M1 — 9
Gl B8F — ZEH E/f
KE ImZE 11 — 15 =10 MREF

D3 15 — 8
Mm% 3 — 5 5 FPH

10/ 11 R=Y




Red: FNERRRXEEEF)F7 3
e HARELI—A)

HEES: 10 (5L vs BEBA)

£15: IIFNRAR-YtU4-

L1—A

BK FHE3E 8 — 15 N HEF

D1 1 15 — 12| 2
=EH @ 3 — 5 AL BF
=8 FF 15 — 14 E2H HRPE

D2 2 15 — 9| 0
HE K — ) B BHEF
I N 15 — 10 a5 BEE

D3 2 15 — 11| 0
1% RA-F ] — B 0AH

1M/ 11 R=



